
Question -1)

Statement: "Male infertility remains a stigmatized issue, often overshadowed in discussions on
reproductive health."

Conclusion: "There is a need for greater awareness and open discussions about male reproductive
health."

A. Statement and Conclusion both are true and Conclusion follows from Statement
B. Statement and Conclusion both are true, but Conclusion does not follow from Statement
C. Statement is true, but Conclusion is false
D. Statement is false, but Conclusion is true

Question -2)

Statement: "Environmental pollution and lifestyle factors significantly contribute to male
infertility."
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Conclusion: "Reducing environmental pollution and adopting healthy lifestyles could mitigate male
infertility cases."

A. Statement and Conclusion both are true and Conclusion follows from Statement
B. Statement and Conclusion both are true, but Conclusion does not follow from Statement
C. Statement is true, but Conclusion is false
D. Statement is false, but Conclusion is true

Question -3)

Statement: "Late marriages are a contributing factor to rising male infertility cases."

Conclusion: "Encouraging early marriages among youth can alleviate male infertility issues."

A. Statement and Conclusion both are true and Conclusion follows from Statement
B. Statement and Conclusion both are true, but Conclusion does not follow from Statement
C. Statement is true, but Conclusion is false
D. Statement is false, but Conclusion is true

Question -4)

Statement: "Adoption of healthy lifestyle practices can safeguard male reproductive health."

Conclusion: "Therefore, all cases of male infertility can be prevented or cured through lifestyle
interventions alone."

A. Statement and Conclusion both are true and Conclusion follows from Statement
B. Statement and Conclusion both are true, but Conclusion does not follow from Statement
C. Statement is true, but Conclusion is false
D. Statement is false, but Conclusion is true

Question -5)

Statement: "Genetic counseling is crucial for couples dealing with male infertility due to gene
mutations."

Conclusion: "It helps in making informed decisions before opting for assisted reproductive
technologies like IVF or ICSI."

A. Statement and Conclusion both are true and Conclusion follows from Statement
B. Statement and Conclusion both are true, but Conclusion does not follow from Statement
C. Statement is true, but Conclusion is false
D. Statement is false, but Conclusion is true
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Question -6)

Statement: "Male infertility accounts for 50% of all infertility cases in India."

Conclusion: "Therefore, male infertility is the primary concern in addressing infertility issues in
India."

A. Statement and Conclusion both are true and Conclusion follows from Statement
B. Statement and Conclusion both are true, but Conclusion does not follow from Statement
C. Statement is true, but Conclusion is false
D. Statement is false, but Conclusion is true

Thank you for attempting!!!
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